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Section A has 20 questions and section B has 12
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1.

— SECTION

Workout @ 1212 + 4 \

Express 149 as Roman numerals.

vide it
Think of a number, divide |
by 2 and subtract 3 from |T.b .
The result is 5. Find the numoer.

-

Given that Q=(2,3,5,7}
List all the proper subsets in
Set Q.

Convert 250g into kilogrammes.

The ratio of mangoes to apples
in a basket is 3:5, if there are

56 fruits altogether, how many
apples are in the basket?

Find the square of the next
number in the sequence

1 4, 9,16, —

Which integer is four steps 1o

the left of +3?

Printed by;

. Contact 0
Yellow Printers Plot 33. Nasser Rl

Prime factorise 72 cmgi write
your answer in subscript form.

- —

10,

Mukisa started revising at
11:50pm on Friday and stopped
revising at 2:30am of the next
day. For how long did he revise?

11,

3cmL

Find the total dis‘rcmcé round
AThe figure below.

c 4cm B

772-459978 /0700-234830 /0780'323284
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13,

+ The
- thejp s

4 .Gr‘eqf
é. est Common Factor
( CF )OOf two numbers is 6 and
Owest Common Multiple
g—gZM) Is 36. If the first number
. find the second number.

Convert 2:40pm info a 24hour

Workout: 5+ 1
i

14.

Mutaaka bought a radio at
sh.42,000 and sold it to Mukiro
at Sh. 35,000. Calculate the
percentage loss he made.

print

Use distributive property only

to workout:
(70 X 5) + (5x30)

iah scor‘ed the following

ril(;‘lris in £.0.T exams

MTC:70%,5CI = 655’.

ENG - 80% 5ST=70% and
- 90%.

E}]Elc;llz*e his average score,

17.
clock system.

18. Given that&¥represents 7 balls.
Draw pictures to represent
105balls.

19. Find the area of a circular
garden whose radius is 14m.

20. With the help of a ruler, pair of

compasses and a very sharp
pencil only,drop a perpendicular
bi-sector through point A.

W

ed b
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SECTION B (60marks) e (P
Ina class, 20 children enjoy music (W), 11 children enjoy dg”C'"gn".g))’
W children enjoy both Music and dancing while (W-4) children en]
other activties but not music and dancing.

- Complete the venn diagram below. b) If 3 children enjoy swimming,

(2mks) how many children are in the

n(D)

3mks)
(V120 class? (

W-4
22a) Given that 24, =14 b) Given the number 7 3 5,
" Find the unknown base (3mks) Complete correctly.
' ' Tens Ones
Hundreds |
(2mks)

23.

a)

In a family, 2 are adults and the rest are children.

le are in the b) Express the number of adults
quor:\Vi I;n?fnzhger'zpare 12 children? as a percentage of the whole
| (3mks) family. (2mks)

/ - -
" rvecor Ril. Contact 0772-459978 /0700-234830 10780-328744 i : ,
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) Convert 18km/h.

740)
per second 4..‘(2.mks),__.‘

nto metres ‘1

)

A bus moved a distance of 180km
in 180 minutes.
Calculate the speed the bus was

using in kilometres per hour.
(3mks)

that follow.

B

100cm

(25, Study the figure below carefully cmd u

a) Fmd the capacity. of the tank.
| (2mks)
1 litre cups, how

se i to answer the questions

(2mks)

Scanne d with CamScanner




' 26. Namiiro deposited sh.100,000 in abank which gives an interest rate

of 10% per year. After h wonths will her account yield an
. amount of sh. 102,500? s At (4mks)

|
1
i
t
|
| 27. The table below shows the rdes at which a forex bureau buys and

sells United States dollars ard Kenya Shillings in Uganda Shillings.
Use it to answer the questions that follow.

Currency Buying rate Selling rate
1 US doliar Ugsh. 3,500 Ug.Sh. 3,650
1Ksh Ugsh.30 Ugsh.32

a) Joan had Ksh.18250 and bought a desktop using US dollars.
How many US dollars did she pay for the desktop? (3mks)

b) If Newton had 400 dollars and boughta bicycle in Kenya shilli
) What was the cost of the bicycle in Kewya shillings? 4 (g&"}?ss)

b) Subtract P+ 2 from 2P - 5

28a) Simplify:
a) (2mks) (2mke)

2 3
a-xa

07
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29. Sfudy the

diagram pe

\
the ques'hons that fol,ow Cmd use the information given to answer

OW

b) Find the size of angle marked.
—— | (2mks@)
i) FAC
a) Find th
e value of angle W. ii) 1of angle CBE
(2mks) | >
30. Given the equation of the linePis Y = 3x - 1 (2mks)

)

Complete the table below.

X |1 |——| O |——

5 | E

\Y e ==

—

b)

Plot the above coordinates on the grid below to show the line.

/-—N-'; Rd. Contact 0772-459978 / 0700-234830 /0780-328 284
_- ptar 33, Nass " y

(4mks)

[ <

1

| —T"

]
3
2
1
3 -2l -1 o 1
1
2
3
4
3
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estions |
e swer the qués.
31. Study the figure below carefully and use it fo an

i ndY (Imk)

that follow. a) Find the value of. Pa -

Scm ) p - i) Y =
3cm
Y 5cm
4cm
| P : (3mks)
b) Calculate the area of the whole figure.

i i mpasses, ruler and a very sharp pencil only,
= \CJ:AZ%:JESI;‘ ::i::gle?KPT where line KP = 5cm, angle KPT =105° and
line PT=3-5cm. (4mks)

et
i

Measure angle PKT.

Rd, Contact §772-459978 7 0700-234830 /0780-328284
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